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 Note:

1. This question paper is divided into sections

2. Section- A consists 35 marks each.

3. Section – B consists of 15 marks each
4.  Section – C  consists of 20 marks each
5. Answer the questions after carefully reading the text.


	Section – A

	Q1.
	Answer the following questions

	
	(a)
	What is System software? Write one point difference between Compiler and Interpreter.
	2

	
	(b)
	What are the major strengths and weaknesses of computer? 
	2

	
	(c)
	Write short note:-                                                              
i. Digital Certificate      

ii. Firewall & Cookies  
	2

	
	(d)
	Write two point differences between volatile memory and non-volatile memory?
	2

	
	(e)
	Expend the following :-

i. OCR                ii. IDE                  iii.  MICR                 iv. USB
	2

	Q2.
	Answer the following questions
	

	
	(a) 
	Write the valid identifiers.

Data#rec,        _data$,      break_loop,       data_1 ,       
data of birth,   my.file,      go_to,        m.n._data      
	2

	
	(b)
	What is RAD? Write any one name of RAD tool.
	2

	
	(c)
	Write down the common Methods and Properties of jTextField and jLabel (any two).
	2

	
	(d)
	Distinguish between unary, binary & ternary operator. Give examples of Java operators for each one of them.  
	2

	
	(e)
	Write one Difference  of the following:                                     
i. Call by Value and Call by Reference    
ii. Constructor and Methods
	2

	Q3
	Answer the following questions

	
	(a)
	What is RDBMS? Write any two names of RDBMS. 
	2

	
	(b)
	What is use of IFNULL () function? Write the Syntax of IFNULL ()
	2

	
	 (c)
	Explain the following terms:-                                                     
1. Relation  

2. Degree and Cardinality
	2

	
	(d)
	What is use of USE Command in MySQL? 

Write MySQL command:

i. To view the all Databases in MySQL server.

ii. To view the all tables in Database.
	2

	
	
	Write the commands in the following categories:-                             
i. DDL

ii. DML
	2

	Q4
	Answer the following questions

	
	(a)
	Explain the following:-

i. Benefits of E-Learning.

ii. Internet and Non-Internet E-Business 

iii. E-Governance model
	3

	
	(b)
	W rite the Full form of the following:-

i. EC & IT

ii. G2B

iii. NeGP

iv. URLs

 
	2


	Section – B

	Q5.
	Answer the following questions

	
	(a)
	Write equivalent Java expressions for the following expressions:-

       i. |a|+ b>=|b|+ ++a                   ii.  
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	2

	
	(b)
	Identify the data type of the following expression:

         i. intval * longval – ch                 ii.  ft + longval / sh 
If ch is an char, sh is an short, intval is an int, longval is an long and ft is float type. 
	2

	
	I
	Underline the error(s) and rewrite the correct code in the following :-

public class MAINPRO {

    int a,b;

    public void MAINPRO()

    {  obj.a=100;

        obj.b=200;    }

    public static void main(String args[])

    {   MAINPRO obj = new MAINPRO(12,30);

        a=20;

        b=30;    }

}
	2

	
	(d)
	Find the output of the following code:-

boolean  b;

int d, as=290;

int x1=100, x2=200, x3=300 ;

i. b=x1*2==x3     

System.out.println(“B=”+ b);

ii. d= as-x1>x2? x1:x2

System.out.println(“D=”+ d);
	2

	
	(e)
	 Explain the following point with example:-

         i. Try & Catch                  ii. Type of Errors
	2

	Q6.
	Rewrite following :

	
	(a)
	Write a methods clacSum(), calcAvg()& calcMax() with pass three number as argument and return the Summation, Average and Maximum number respectively. Also write code for ReSet & Exit buttons to Clear all text fields and exit from the application respectively. 
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	5

	
	
	
	


	Section – C

	Q7
	Answer the following questions

	
	Write a SQL commands for table FURNITURE
Table: FURNITURE

ITEMNO

ITEMNAME

TYPE

DATEOFSTOCK

PRICE

DISCOUNT

INT

VARCHAR

VARCHAR

DATE

INT

INT

5

20

20

-

6

2

Primary Key

Not Null

Not Null

Default ’10-03-10’
Price < 40,000

-



	
	a).
	Write a MYSQL Command to create a furniture table including all constraints.
	2

	
	b).
	Write a MYSQL command to insert below data in FURNITURE table.
ITEMNO

ITEMNAME

TYPE

DATEOFSTOCK

PRICE

DISCOUNT

1

White lotus

Double Bed

23/02/02

30000

25

2

Pink feather

Baby cot

20/01/02

7000

3

Dolphin

Baby cot

19/02/02

9500

00

	2

	
	c).
	Write a MYSQL command to change TYPE “Rolling Table” of FURNITURE where ITEMNO less then or equal to 2. 
	2

	
	d).
	Write a MYSQL quarry to Calculate the discount from the specified percentage and PRICE column.
	2

	
	e).
	Write a MYSQL quarry to display ITEMANME (in lower case) and DATEOFSTOCK from FURNITURE table which take discount is null.
	2

	Q8
	Answer the following questions ::Table: Employee

	
	EMPNO

ENAME

GENDER

DEPTNO

COMM
SALARY

101

RAJINDRA

M

10

120
3488.90

102

SUMITRA

F

10

200
2490.32

103

PANJWANI

F

20

3053.15

104

ANIL KUMAR

M

30

00
4501.89



	
	a) .
	Give a statement as follows:

CREATE TABLE EMP( EMPNO INT(10) PRIMARY KEY, ENAME VARCHAR(30) NOT NULL, GENDER CHAR(1) DEFAULT ‘M’, DEPTNO INT(6) REFERENCES DEPT(DEPTNO), SALARY INT CHECK(SALARY>2000));

Identify the number and types of constraints in the table EMPLOYEE.
	2

	
	b).
	Write the MySQL command to ADD new column JOB VARCHAR(20) NOT NULL.
	2

	
	c).
	Write the MySQL command to remove a GENDER column from Employee table
	2

	
	d).
	Find the output of the following commands:-

i. SELECT SUBSTR(ENAME,1,5), COMM  FROM EMPLOYEE WHERE COMM IS NOT NULL;

ii. SELECT INSTR(ENAME, ‘I’), GENDER FROM EMPLOYEE;

iii. SELECT TRUNCATE(SALARY,-2) , ROUND(SALARY,-2) FROM EMPLOYEE;

iv. SELECT EMPNO, ENAME, SALARY, IFNULL(COMM , ‘Zero’ ) “ COMMISSION”  FROM EMPLOYEE WHERE ENAME LIKE ‘---J%’;
	4
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	Section – A

	Q1.
	Answer the following questions

	
	(a)
	[ 1- marks for correct definition and 1-marks for correct difference ]

Systems software refers to the Operating System and all utility programs (like Compiler, Loader, Linker, and Debugger) that manage computer resources at a low level.

Compiler and Interpreter:  
i. Compiler checks syntax of program where as Interpreter checks the keywords of a program.
ii. Compiler takes whole program at a time and executes it where as interpreter executes the program line by line.
	2

	
	(b)
	Strengths:- Speed, High Storage Capacity, Accuracy, Reliability & Versatility 

Weaknesses:- Lack of Decision and IQ Zero.   [ 1- marks for each correct answer ]
	2

	
	(c)
	Digital Certificate:                [ 1- marks for each correct answer ]
· Digital Certificate is a data with digital signature from one trusted Certification Authority (CA).

· This data contains:

· Who owns this certificate

· Who signed this certificate

· The expired date

· User name & email address

Firewall: A firewall is hardware, software, or a combination of both that is used to prevent unauthorized programs or Internet users from accessing a private network and/or a single computer

Cookies: A piece of information sent by a Web server to a user's browser Cookies may include information such as login or registration identification, user preferences, online "shopping cart" information, etc. 
	2

	
	(d)
	 [1-marks for correct difference]
Volatile memory: - RAM is a volatile memory and its contents are lost when power is turned off.

Non-Volatile memory: - The ROM is a non-Volatile memory and its contents are not lost when power is turned off.
	2

	
	(e)
	[  ½ for each correct expend]
i. Optical Character Reader            ii. Integrated Development Environment                  iii. Magnetic Ink Character Reader iv. Universal Serial Bus.
	2

	Q2.
	Answer the following questions
	

	
	(a) 
	Valid identifiers:  _data$,  break_loop, data_1 and go_to .  [  ½-marks  for each  ]
	2

	
	(b)
	Rapid Application Development (RAD) refers to a type of software development methodology that uses minimal planning in favor of rapid prototyping. RAD allows software to be written much faster, and makes it easier to change requirements.

Name of RAD tool: NetBean IDE 6.5.1.               [  1-mark  for each correct answer ]

	2

	
	(c)
	Common Methods and Properties are:                           [  1-mark  for each correct answer ]
Methods 

· getText()

· setText()

Properties

· Background

· Enabled

· Text
	2

	
	(d)
	[  1-mark  for each correct answer ]
i. Unary, one, only requires operator and variable. Like ++i, i++, i--.and Binary: Binary operators are operators that deal with two arguments, both generally being either variables or constants

c= a+b; 

d= a-b; etc.
ii. Ternary: Tertiary operators are operators that deal with three arguments which can be anything from a constant to a complete Boolean expression.  x = a > 0? 1: 0;
	2

	
	(e)
	[  1-mark  for each correct answer ]
Call by Value: - Java always makes a copy of the argument and passes the copy. The called method has a local copy of the data. If the method changes the data it changes the copy, so the original value is not changed. 
Call By Reference: - The value that is copied and sent along is a reference or pointer to the object. The method gets its own copy of the pointer, but it doesn't get its own copy of the object. If the method changes its copy of the pointer to point to a different object the original pointer is not affected 
Constructor and Methods:- Constructor has not return type, not even void while Method has a void or valid return type 
	2

	Q3
	Answer the following questions

	
	(a)
	RDBMS: Relational Database Management System   [  1-mark  for each correct answer ]
Two RDBMS:  MYSQL, ORACLE
	2

	
	(b)
	[  1-mark  for each correct answer ]
IFNULL ():- If you want to substitute null with a value in the output you can use IFNULL () function.

Syntax: IFNULL(<column name>, value-to-be-substituted)

Example: SELECT ename, empno, job, IFNULL(comm.) from emp;
	2

	
	 (c)
	Explain the following terms:- [ 1- marks for each correct answer ]

3. Relation:- A relation is a table i.e. data arranged in rows and columns 
4. Degree and Cardinality: Degree: the numbers of attributes in a relation. And Cardinality:-  the numbers of rows in a relation.
	2

	
	(d)
	USE Command is used to connect existing database. 
MySQL command to:                  [1-marks for correct definition and  ½ for each correct command]
iii. To view the all Databases: SHOW DATABASES;

iv.  To view the all tables: SHOW TABLES;
	2

	
	(e)
	DDL: CREATE , ALTER , DROP, TRUNCATE  [ 1- marks for each correct answer ]

DML: INSERT, UPDATE, DELETE.
	2

	Q4
	Answer the following questions

	
	(a)
	Benefits of E-Learning :-                                [ 1- marks for each correct explanation ]
a. Reduced Overall Cost

b. Reduced Learning Times

c. Consistent Delivery.

d. Cost effective and fast updation

e.  Easily Manageable

iv. Internet and Non-Internet E-Business :-
Most e-commerce is done over the Internet. But e-commerce and thereby e-business can also be conducted on private networks, such as value-added networks (VANs, networks that add communication services to existing common carriers), on Local Area Networks (LANs), or even ion single computerized machine. 

v. E-Governance model:- 
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	3

	
	(b)
	Full form of the following:-[  ½ for each correct expend]
v. EC : -E- Commerce & IT:- Information Technology
vi. G2B:- Government to Business 

vii. NeGP:- National e-Governance Plan

viii. URLs:- Universal Resource Locators 
 
	2


	Section – B

	Q5.
	Answer the following questions

	
	(a)
	Write equivalent Java expressions for the following expressions:-[ 1- marks for each correct answer]
i. |a|+ b>=|b|+ ++a  :-Math.abs(a)+b>=Math.abs(b) + ++a;
ii. 
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 :- Math.exp(Math.abs(2*x-4*math.sqrt(x));
	2

	
	(b)
	The data type of the following expression:             [ 1- marks for each correct answer ]
i. intval * longval – ch  :- Long                
ii. ii.  ft + longval / sh : - Float
	2

	
	I
	                                                                                     [ ½ - marks for each correction ]
public class MAINPRO {

    int a,b;

    public void MAINPRO()

    {  obj.a=100;

        obj.b=200;    }

    public static void main(String args[])

    {   MAINPRO obj = new MAINPRO(12,30);

        obj.a=20;

       obj.b=30;    }

}
	2

	
	(d)
	iii. false                                          [ 1- marks for each correct answer ]
iv. 200
	2

	
	(e)
	 Explain the following point with example:- [ 1- marks for each correct answer ]
i. Try & Catch: The try...catch statement allows you to test a block of code for errors. The try block contains the code to be run, and the catch block contains the code to be executed if an error occurs.

Syntax

try
  {  //Run some code here
  }
catch(err)
  {
  //Handle errors here
  }

ii. Type of Errors:- Syntax Error, Semantic Error, Logical Error & 
Run time Error
	2

	Q6.
	Rewrite following :

	
	(a)
	i. int calcMax(int a, int b, int c)                  [ 1- marks for each correct code ]
{    if(a>b)

    {   if(a>c)

            return a;

        else

          return c;

    }

    else

    {        if(b>c)

            return b;

        else

return c;

    }   

}

ii. float calcSUM(int a, int b,int c)

        {

return (a+b+c);

        }

iii. float calcAVG(int a, int b,int c)

        {

return (a+b+c)/3;

        }

iv  jTextField1.setText("");

         jTextField2.setText("");

          jTextField3.setText("");

          jLabel5.setText("");

and 

v. this.dispose();
	5

	
	
	
	


	Section – C

	Q7
	Answer the following questions

	
	Table FURNITURE

	
	a).
	CREATE TABLE FURNITURE (ITEMNO INT(5) PRIMARY KEY, ITEMNAME VARCHAR(20) NOT NULL TYPE VARCHAR(20) NOT NULL, DATEOFSTOCK DATE DEFAULT ’10-03-10’ PRICE INT(6) CHECK(PRICE<40000) DISCOUNT INT(2));                                                                                                                    [2-marks for correct Query]
	2

	
	b).
	[ 2- marks for three insert query code ]
	2

	
	c).
	UPDATE FURNITURE SET TYPE=’ Rolling Table’ WHERE ITEMNO <=2.

[2-marks for correct Query]
	2

	
	d).
	SELECT PRICE*DISCOUNT/100 “Discount” FROM FURNITURE; 

[2-marks for correct Query]
	2

	
	e).
	SELECT LCASE(ITEMNAME), DATEOFSTOCK FROM FURNITURE WHERE DSCOUNT IS NULL; .                                                                                   [2-marks for correct Query]
	2

	Q8
	Answer the following questions ::Table: Employee

	
	EMPNO

ENAME

GENDER

DEPTNO

COMM
SALARY

101

RAJINDRA

M

10

120
3488.90

102

SUMITRA

F

10

200
2490.32

103

PANJWANI

F

20

3053.15

104

ANIL KUMAR

M

30

00
4501.89



	
	a) .
	05 type Constraints in the table EMPLOYEE i.e. PRIMARY KEY, NOT NULL, DEFAULT, REFERECES and CHECK constraint.[2-marks for correct answer]
	2

	
	b).
	ALTER TABLE Employee ADD JOB VARCHAR(20) NOT NULL;[2-marks for correct Query]
	2

	
	c).
	ALTER TABLE Employee DROP (GENDER); [2-marks for correct Query]
	2

	
	d).
	Find the output of the following commands:-[1-marks for correct output]
i.

SUBSTR(ENAME,1,5)
COMM
RAJIN

120
SUMIT

200
ANIL 

00
ii. 
INSTR(ENAME, ‘I’),
GENDER

4
M

4
F

8
F

3
M

iii. 

TRUNCATE(SALARY,-2)
ROUND(SALARY,-2)
3400
3500
2400
2500
3000
3100
4500
4500
iv.
EMPNO

ENAME

SALARY

COMMISSION

101

RAJINDRA

3488.90

120

102

SUMITRA

2490.32

200


	4
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